EARAROBREBRT —5 XN—ZXBISH—F 202261828 (B) 210EH4E

I C3— YS5R4mt B
[xE<%] 1% :500,000  23&:200,000 W  33&:125,000 ™ . 43%&:75000 M . 53&:50,000H
BE\RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
we < Aifi—E : -3-3- - = Gl )]
1189 A=AV 4t 4 o 1.(??).1 3-3-3-3 | 41.3 8 (4_693) %?g‘lﬁ
R:F4—TTUSYF BAIYFYRF—R F—L— - TNV - T7—LERE
» . 5 | EZEER 1:33.1 8-9-8-9 |40.7| -— 2 425 | KEER (Bl)
217| 7 | ARAXAD—=LvY 45 54.0 (F9) (4 | @) c<5T-—RU—vay
Ridr—zU7Y #:HYIYF-TUEVH A A5
. REERELSR :33. -7-6- . - KRR (F)
3|5|5|9F—I =TT R RS 1(93?:; A ° (5:29) WREA
Rib—trS5— B:ZILR BHBUS
—_—— — - HHAE : -1-1- - FashiE (EH)
1B 3| FRF=—Lo 7 e by 1.(313).3 1-1-1-1 | 42.0 4 (4+677) By
R:vavFvhyF B:RIVAFAT4Z— FBR S Y R
— — - KLUBEAXEB :33. -5-5- . - AR (FkR)
sl 4| TILR=Z34UY o4 $53.0 (17?73) SRR } ?f;) EBEE
R:O—IVIUY BYvAZVTTSRA #HBEIT7—L
—3 —E2y it 6 | OEE 1:33.3 2-2-2-2 | 41.9| - 1 494 | OGS (FERR)
6 10| =¥/20-Fv b 54.0 (F9) (1) | EEES
RU—FHISOY B:aF/EU—3R [N e
N o AAE .33, -10-10- . - =EBEZ (Ef)
1 > RPEEIA it 6 %3\__0 1 (313) 5 10-10-10-10| 39.8 10 (4_7:; /J\%%i(
RN—EVIv— B:7FH—H-I RTH%
» W 6 | HAFHE 1:33.8 8-8-9-7 |41.3| - 9 500 | 2HESE (EH)
86| TATYNY * 5.0 a1/ o | 8 I7—2hevay
R:TSVFTURR B:RI—Lw b ke
Py Ry R 4 5 | ELAKIHREE 1:34.0 6-6-7-6 | 41.8| — 5 470 | BiEE (T
9|11 |P¥YTyrovyRk 4530 3/4) (ta) | 1REISSH
RiFVIARZ S B:ROE—F Gl e
sy < p TRE : ~4-4- - FFRR (EM)
ol7l s | FTU—vr—=v v 4 s 1.(365).0 4-4-4-8 | 43.2 7 (4_653) 1%%!1?.@%\
RiFzU—I359Y B:FzU—-TUAR BRI 7L
@ 11— —BERIEI
13—7F— 3,10,9,8,4,1,5,(6,7),2
20—F— 3,10,9,8,4,1,5,6,7,2
IT=5r= 3,10,9,8,4,5,1,7,6,2
43— — 3,10,9,4,5,1,6,8,7,2
0 ILRE
BB 9 1,180 JA R 7-9 960MH & 7-8 400 3ER 5-7-9 7,670M
B B 9 360M 520) 1,560/ o 18 7-9 2,840M 3Es =75 59,900/
7 160/ 5-7 970M oS- 1 9-7 5,640
5 330

ABIC OV TRUTEREERRODDZE. THRIIZEL.



